190

No Skive Ferrule

for R17

BN175, BN160,

BN170T

Part

Number

190-04
190-06

110

No Skive Ferrule

for 1SN, 2SC,
BN120, BN250,

BN300, BN270T

110-03
110-04
110-05
110-06
110-08
110-10
110-12
110-16
110-20
110-24
110-32
110-40
110-48

1-
1-12

2-

. () ———

19.0

20.0
22.0
24.5
28.0
32.0
36.0
45.0
54.0
62.0
76.0
88.0
101.0

210

Two Piece

No Skive Ferrule

for 2SN

BN200, BN220

Part

Number

210-03
210-04
210-05
210-06
210-08
210-10
210-12
210-16
210-20
210-24

210-32

460/464

Skive Ferrule

for 4 Spiral
SN300

Part

Number

460-06
460-08
460-10
460-12
460-16
464-20
464-24
464-32

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"

9J31d OM 1

sa|nJlo m

175



=]

=

& 170 180

No Skive Ferrule No Skive Ferrule
mmi for Thermoplastic for Teflon

L
720, 711, 725 i | TBR .
n AN

-

£180

Lo

170-03 %e 16.0 23.6 180-03 %e 12.0 25.5
170-04 Va 18.0 23.6 180-04 Va 14.0 29.5
170-05 %e 20.0 24.6 180-05 %e 17.0 32.0
170-06 Y 22.0 32.0 180-06 % 19.0 32.0
170-08 Y2 27.0 34.0 180-08 Y2 23.0 32.0
B 170-12 Ya 33.8 40.0 180-10 % 27.0 37.0
180-12 Ya 30.0 43.0
c-gl 180-16 1 37.0 48.0
- o -1
E 180-20 1-Y 46.0 59.0
6
w

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"

176



Two Piece

MP NPT Male

WO03-02MP %e Ve - 27 206 | 0.81 | 456 | 1.79 | 12 2
W03-04MP %e Ya-18 26.5 | 1.04 | 51.5 | 2.03 | 14 %e
W04-02MP Va Ve - 27 211 | 0.83 | 49.1 | 193 | 12 Yo
W04-04MP Va Va-18 27.0 | 1.06 | 55.0 | 2.16 | 14 %e
W04-06MP Va % -18 286 | 1.12 | 66.6 | 223 | 19 Ya
W04-08MP Va Y2 -14 340 | 1.34 | 62.0 | 2.44 | 22 %8
W05-04MP %e Va-18 27.0 | 1.06 | 55.0 | 216 | 14 %e
W05-06MP %e %-18 28.6 | 1.12 | 56.6 | 223 | 19 Ya
W06-04MP s Va-18 275 | 1.08 | 58.0 | 228 | 16 %
W06-06MP % % -18 286 | 1.12 | 59.1 | 233 | 19 Ya

9J31d OM 1

F =

_% L W06-08MP % -14 340 | 1.34 | 645 | 254 | 22 /s
£ W08-04MP Y2 Va-18 30.5 | 1.20 | 63.2 | 249 | 22 /s
L W08-06MP Y2 % -18 306 | 1.20 | 63.6 | 250 | 22 %

W08-08MP Y2 Y2-14 35.0 | 1.38 | 68.0 | 2.68 | 22 %
W08-12MP V2 Ya-14 369 | 145 | 69.9 | 275 | 27 116
W10-08MP % Y2-14 36.2 | 1.42 | 72.0 | 2.83 | 25 1
W10-12MP % Y -14 371 | 146 | 729 | 2.87 | 27 16
W12-08MP Ya Y2-14 375 | 1.48 | 78.0 | 3.07 | 27 16
W12-12MP Ya Y -14 379 | 149 | 784 | 3.09 | 27 16
W12-16MP Ya 1-11'2 | 455 | 1.79 | 86.0 | 3.38 | 35 176
W16-12MP 1 Y% -14 404 | 1.59 | 914 | 3.60 | 32 1Y
W16-16MP 1 1-11%2 | 47.0 | 1.85 | 98.0 | 3.86 | 35 176
W16-20MP 1 1 -11% | 511 | 2.01 (1021 | 4.02 | 46 | 1'%e
W20-20MP 1% | 1%4-11% | 51.9 | 2.04 |109.6 | 4.31 46 | 1'%e
W24-24MP 1%2 | 1%2-11%2 | 55.0 | 2.16 |119.5| 4.70 | 50 2
W32-32MP 2 2-11%2 | 64.0 | 252 (134.0 | 527 | 65 | 2%s

MPL NPT Male Long
F -=— Part '@'

Number

in

9SOH |eJidg 1no / paplelg - Sauag M m

H W04-04MPL Va Va-18 36.8 | 1.45 | 648 | 255 | 14 %e
L WO06-06MPL | 3% % -18 389 | 1.583 | 69.4 | 273 | 19 Ya

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"

177



9J391ld OM 1

9SOH |eJidg Jno 4 / paplelg - Sauag M m

178

Two Piece

MPX NPT Male Swivel

Part

Number

©

W04-02MPX
W04-04MPX
W04-06MPX
W06-04MPX
W06-06MPX
W06-08MPX
W08-06MPX
W08-08MPX
W12-12MPX
W16-16MPX

A,

.
NNy
—

’flll

seerrrerereser sy

Y8-18
Ya-18
%-18
Va-18
% -18
2-14
%-18
Y2-14
Ya-14
1-11%

60.0 | 2.38
69.0 | 2.72
74.0 | 2.91
72.0 | 2.83
75.0 | 2.95
88.0 | 3.46
79.0 | 3.11
89.0 | 3.50
101.0 | 3.98
116.0 | 4.57

116
%
16
1%
1%

W04-04MPX90B
} ey | W06-06MPX90B

S SN
H W08-08MPX90B
L W12-12MPX90B

SRR

Va-18
% -18
2-14
Y2 -14

1Ys

FP NPT Female Rigid

Part

Number

W04-02FP
WO04-04FP
H WO04-06FP
WO06-04FP
W06-06FP
W06-08FP
W08-08FP
W12-12FP
W16-16FP

Ya - 27
Ya-18
%-18
Ya-18
% -18
Y- 14
Y- 14
%-14
1-11%

1%e
1%e
14
1746

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"



Two Piece

FPX NPSM 60° Female Swivel

Part

Number

i WO04-04FPX Va Ya-18 19.0 | 0.756 | 47.0 | 1.85 | 17 e
H WO06-06FPX EZ] % -18 21.0 | 0.83 | 51.0 | 2.00 | 22 /s
L WO08-08FPX V2 2 -14 23.0 | 0.90 | 56.0 | 2.20 | 25 1

9J31d OM 1

W12-12FPX Ya Ya-14 27.0 | 1.06 | 67.0 | 2.64 | 32 1Y
W16-16FPX 1 1-11% 30.0 | 1.18 | 81.0 | 3.19 | 38 1%

MJ Jic 37°Male
Part '@'

Number in

W03-04MJ %e "he - 20 250 | 0.98 | 50.0 | 1.97 | 12 kZ)
W04-04MJ Va "he - 20 25.5 | 1.00 | 53.5 | 2.11 12 2
W04-05MJ Va Y2 - 20 255 | 1.00 | 53.5 | 2.11 14 %e
W04-06MJ Va %e - 18 26.6 | 1.05 | 54.6 | 215 | 15 %
W05-05MJ %e Y2 - 20 25.5 | 1.00 | 53.5 | 2.11 14 %e
W05-06MJ %e %e - 18 26.6 | 1.05 | 54.6 | 215 | 15 %
W05-08MJ %e Y -16 29.7 | 117 | 57.7 | 227 | 19 Ya
W06-06MJ Y %e - 18 26.6 | 1.05 | 571 | 225 | 15 %
W06-08MJ Y% Y -16 29.7 | 117 | 60.2 | 237 | 19 Ya
W06-10MJ % % -14 343 | 1.35 | 64.8 | 255 | 24 1
W08-06MJ Y2 %e - 18 29.7 | 117 | 62.6 | 246 | 19 Ya
W08-08MJ Y2 Y1 -16 30.7 | 1.21 | 63.7 | 2.51 19 Ya
W08-10MJ V2 %B-14 353 | 1.39 | 68.3 | 2.69 | 24 1
W08-12MJ Y2 1%e-12 | 389 | 1.53 | 71.9 | 2.83 | 27 16
W10-08MJ % ¥ -16 33.7 | 1.33 | 684 | 269 | 24 1
W10-10MJ % % -14 35,5 | 1.40 | 71.3 | 2.81 24 1
W10-12MJ % 1%e-12 | 39.1 | 1.54 | 749 | 295 | 27 1%
wW12-10MJ Ya B -14 373 | 1.47 | 77.8 | 3.06 | 27 16
Wi12-12MJ Ya 1%e-12 | 399 | 1.57 | 804 | 3.16 | 27 16
W12-14MJ Ya 1%e-12 | 416 | 1.64 | 82.1 | 3.23 | 32 1%
W1i2-16MJ Ya 1%e-12 | 421 | 1.66 | 82.6 | 3.25 | 34 1%
W16-16MJ 1 1%6-12 | 43.6 | 1.72 | 94.6 | 3.72 | 34 1%
W16-20MJ 1 1% -12 46.8 | 1.84 | 97.8 | 3.85 | 42 | 1
W20-20MJ 1Y 1% -12 476 | 1.87 |105.3 | 414 | 42 | 1V
W24-24MJ 1% 174-12 63.0 | 2.09 |117.5| 4.62 | 50 2
W32-32MJ 2 22-12 63.4 | 250 |133.4| 5.25 | 65 2%e

ﬂ
i

9SOH |eJidg 1no / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"

179



Two Piece

FJ Jic 37° Female Swivel

Part

Number

WO03-03FJ %e % - 24 19.0 | 0.75 | 44.0 | 1.73 | 12 Yo 12 Vo
WO03-04FJ %6 e - 20 19.0 | 0.75 | 44.0 | 1.73 | 14 %e 12 Y2
WO03-05FJ %e 12 -20 45.0 | 0.59 | 40.0 | 1.57 | 19 Ya - --
W04-04FJ Va e - 20 20.5 | 0.81 | 48,5 | 1.91 14 %e 14 %e
WO04-05FJ Va V2 - 20 21.0 | 0.83 | 49.0 | 1.93 | 17 e 14 %e
W04-06FJ Va %6 - 18 22.0 | 0.87 | 50.0 | 1.97 | 19 Ya 14 %e
WO04-08FJ Va % -16 155 | 0.61 | 43.0 | 1.68 | 22 % 19 Ya
WO05-04FJ %e e - 20 21.0 | 0.83 | 49.0 | 1.93 | 14 %e 14 %e
WO05-05FJ %e - 20 21.0 | 0.83 | 49.0 | 1.93 | 17 e 14 %e
W05-06FJ %e %e - 18 225 | 0.88 | 50.5 | 1.99 | 19 Ya 16 %
WO05-08FJ %e ¥ -16 245 | 097 | 52,5 | 2.05 | 22 % 19 Ya
WO06-04FJ % e - 20 21.0 | 0.83 | 51.5 | 2.03 | 14 %e 16 %
WO06-05FJ ¥ 2 - 20 21.5| 0.85 | 52.0 | 2.05 | 17 e 16 %
WO06-06FJ ¥ %6 - 18 225 | 0.88 | 53.0 | 2.09 | 19 Ya 16 %
a WO06-06FJ-01 | 3% %6 - 18 225 | 0.88 | 53.0 | 2.09 | 18 e 16 %
WO06-08FJ 8 ¥ -16 245 | 0.96 | 55.0 | 2.16 | 22 % 19 Ya
WO06-10FJ ¥ s -14 36.5 | 1.44 | 57.0 | 2.24 | 27 16 22 /8
W08-06FJ kZ) %e - 18 245 | 0.96 | 57.5 | 226 | 19 Ya 19 Ya
WO08-08FJ V2 ¥ -16 255 | 1.00 | 58,5 | 2.30 | 22 78 19 Ya
WO08-10FJ iz s -14 275 | 1.08 | 60.5 | 2.38 | 27 16 22 8
WO08-12FJ Kz 1%6-12 | 303 | 1.19 | 63.3 | 249 | 32 14 25 1
W10-08FJ % ¥ -16 26.7 | 1.05 | 62,5 | 2.46 | 22 % 22 /s
W10-10FJ % s -14 27.7 | 1.09 | 63,5 | 250 | 27 16 22 8
W10-12FJ % 1%46-12 | 30.5 | 1.20 | 66.3 | 2.61 32 14 25 1
W12-10FJ Ya s -14 30.0 | 1.18 | 70.5 | 2.77 | 27 1Y 27 16
W12-12FJ Ya 1%e-12 | 31.8 | 1.25 | 72.3 | 2.85 | 32 1Y 27 16
W12-14FJ Ya 1%e-12 | 345 | 1.36 | 75.0 | 295 | 36 176 30 1%e
W12-16FJ Ya 1%6¢-12 | 35.5 | 1.40 | 76.0 | 2.99 | 38 12 32 1Ya
W16-12FJ 1 1%e-12 | 343 | 1.35 | 85.3 | 3.36 | 32 1Y 32 1Ya
W16-16FJ 1 1%6-12 | 37.0 | 1.46 | 88.0 | 3.46 | 38 1% 32 14
W16-20FJ 1 1% -12 42.0 | 1.65 | 93.0 | 3.66 | 50 2 M 1%
W20-20FJ 1Y 1% -12 428 | 1.68 [100.5| 3.96 | 50 2 41 1%
W20-24FJ 1Y 176 -12 50.0 | 1.97 | 92.0 | 3.62 | 60 22 - --
W24-24FJ 1% 176 -12 47.0 | 1.85 (111.5| 439 | 55 2%e | 46 | 1'%
W32-32FJ 2 22-12 655 | 218 |1255| 494 | 70 2% 60 2%

9J391ld OM 1

9SOH |eJidg Jno 4 / paplelg - Sauag M m
\

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

180 FORSAFLEX



Two Piece

FJ45 Jic 37° Female Swivel - 45° Elbow
Part '@'

Number

WO03-04FJ45 | %46 "he - 20 29.0 | 1.14 | 54.0 | 212 | 100 | 0.39 | 14 %e
WO04-04FJ45 | Ya "he - 20 31.0 | 1.22 | 59.0 | 2.32 | 10.0 | 0.39 | 14 %e
WO04-05FJ45 | ' Y2 - 20 320 | 1.26 | 60.0 | 2.36 | 11.0 | 0.43 | 17 e
WO04-06FJ45 | Y %e - 18 33.0 | 1.30 | 61.0 | 2.40 | 12.0 | 0.47 | 19 Ya
WO05-05FJ45 | %16 Y2 -20 330 | 1.30 | 61.0 | 240 | 11.0 | 0.43 | 17 e
WO05-06FJ45 | %6 %6 - 18 34.0 | 1.34 | 62.0 | 2.44 | 12.0 | 0.47 | 19 Ya
WO06-06FJ45 | 38 %e - 18 355 | 1.40 | 66.0 | 260 | 120 | 0.47 | 19 Ya
WO06-08FJ45 | 3s ¥ -16 375 | 1.48 | 68.0 | 2.68 | 14.0 | 0.55 | 22 /8
WO08-08FJ45 | 2 Y -16 410 | 1.61 | 74.0 | 291 | 140 | 0.57 | 22 s
WO08-10FJ45 | 12 % -14 43.0 | 1.69 | 76.0 | 2.99 | 16.0 | 0.63 | 27 1Y
WO08-12FJ45 | 2 1%e-12 | 45,5 | 1.79 | 79.0 | 3.09 | 19.0 | 0.75 | 32 1Ya
W10-10FJ45 | % % -14 47.0 | 1.85 | 83.0 | 3.27 | 16.0 | 0.63 | 27 16
W10-12FJ45 | % 1%e-12 | 50.0 | 1.97 | 86.0 | 3.38 | 19.0 | 0.75 | 32 14
W12-12FJ45 | 3. 1%e-12 | 57.0 | 224 | 97.0 | 3.82 | 20.0 | 0.79 | 32 14
W12-14FJ45 | % 1%e-12 | 59.0 | 2.32 (100.0| 3.94 | 22.0 | 0.87 | 36 176
W12-16FJ45 | 3 1%6-12 | 61.0 | 2.40 | 101.0| 3.98 | 24.0 | 0.94 | 38 1%
W16-16FJ45 1 1%6-12 | 72.0 | 2.83 (123.0| 4.84 | 240 | 0.94 | 38 12
W16-20FJ45 1 1% -12 76.0 | 2.99 |127.0| 5.00 | 28.0 | 1.10 | 50 2
W20-20FJ45 | 1Va 1% -12 85.0 | 3.35 [143.0| 563 | 38.0 | 1.10 | 50 2
W24-24FJ45 | 1'% 1% -12 99.0 | 3.90 (164.0| 6.46 | 46.0 | 1.26 | 60 2%
W32-32FJ45 2 22-12 [(132.0| 5.20 (202.0| 7.95 | 61.0 | 1.69 | 70 2%

9J31d OM 1

i

9SOH |eJidg 1no / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX 191



Two Piece

FJ90B Jic 37° Female Swivel - 90° Block Elbow

Part

3

Number

—

W04-04FJ90B Va | The-20 [ 17.3 | 0.68 | 43.6 | 1.72 | 18.8 | 0.74 | 14 | %e
W06-06FJ90B % | %e-18 | 17.8 | 0.68 | 52.1 | 2.05 | 21.6 | 0.85 | 19 Ya
1 W08-08FJ90B k) %-16 | 21.2|0.83 | 52.0 | 2.04 | 26.2 | 1.03 | 22 s

PR S

9J391ld OM 1

Part
Number

WO04-04FJ90S | ' h6-20 | 25,5 [1.00 | 53.5 | 211 |20.0|0.79 | 14 | %e
WO04-05FJ90S | Y %-20 | 25,5 [1.00 | 53.5 | 2.11 | 21.0| 0.83 | 17 | e
WO04-06FJ90S | ' %e6-18 | 26,5 [ 1.00 | 53.5 | 2.11 | 23.0 | 0.90 | 19 Ya
WO06-04FJ90S | 3 7h%6-20 | 25.5 [ 1.00 | 56.0 | 2.20 | 20.0 | 0.79 | 14 | %e
WO06-06FJ90S | % %e6-18 | 30.0 [ 1.18 | 60.5 | 2.38 | 23.0 | 0.90 | 19 Ya
WO06-08FJ90S | 3 %-16 | 31.0 | 1.22 | 61.5 | 2.42 | 29.0 | 1.14 | 22 /s
WO08-06FJ90S | 2 %e-18 | 30.0 [ 1.18 | 61.5 [ 242 | 23.0 | 0.90 | 19 Ya
WO08-08FJ90S | 2 %-16 | 37.0 | 1.46 | 70.0 | 2.75 | 29.0 | 1.14 | 22 /8
WO08-10FJ90S | 2 %-14 | 38.0 |1.50| 71.0 [ 279 |33.0 [ 1.30 | 27 | 1Y%
WO08-12FJ90S | 2 | 1%46-12 | 40.0 | 1.57 | 73.0 | 2.87 | 40.0 [ 1.57 | 32 | 1V
W10-10FJ90S | % %-14 | 43.0 |1.69| 79.0 [ 3.11 | 32.0 [ 1.26 | 27 | 1Y%
W10-12FJ90S | % | 1%4e-12 | 45.0 | 1.77 | 81.0 | 3.19 | 40.0 [ 1.57 | 32 | 1%
W12-10FJ90S | % %-14 | 44.0 | 1.73 | 84.5 [ 3.33|33.0 (130 | 27 | 1V
W12-12FJ90S | % | 1%46-12 | 55.0 | 2.16 | 95.0 | 3.74 | 43.0 (1.69 | 32 | 1%
W12-16FJ90S | % | 1%e-12 | 55.0 | 216 | 95.0 | 3.74 | 49.0 | 1.93 | 38 | 1%
W16-16FJ90S 1 1%6-12 | 71.0 | 2.79 | 122.0 | 4.80 | 56.0 | 2.20 | 38 | 12

9SOH |eJidg Jno 4 / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

192 FORSAFLEX



Two Piece

FJ90M uJic 37°Female Swivel - 90° Elbow Medium Drop

WO03-04FJ9OM | %6 | 746-20 | 21.0 | 0.83 | 46.0 | 1.81 | 21.0 | 0.83 14 %e

WO04-04FJ9OM | Y4 | 746-20 | 26.5 | 1.00 | 53.5 | 2.11 | 26.0 | 1.02 14 %e
WO04-05FJ90M | Va %2-20 | 25,5 | 1.00 | 53,5 | 2.11 | 26.0 | 1.02 17 e
W04-06FJO9OM | Vs | %e-18 | 25,5 | 1.00 | 53.5 | 2.11 | 27.0 | 1.06 19 Ya
WO05-05FJ90OM | %e | %2-20 | 28.0 | 1.10 | 56.0 | 2.20 | 29.0 | 1.14 17 e
WO05-06FJ9OM | %e | %6-18 | 28.0 | 1.10 | 56.0 | 2.20 | 29.0 | 1.14 19 Ya
WO05-08FJ9OM | %e | %-16 | 28.0 | 1.10 | 56.0 | 2.20 | 27.0 | 1.06 22 Ya

9J31d OM 1

W06-08FJ9OM | 3s %-16 | 31.0 | 1.22 | 61.5 | 2.42 | 33.0 | 1.30 22 s
WO08-08FJIOM | 12 %-16 | 37.0 | 1.46 | 70.0 | 2.75 | 39.0 | 1.53 22 s
H WO08-10FJ9OM | 2 7%-14 | 37.0 | 1.46 | 70.0 | 2.75 | 40.0 | 1.57 27 16
L WO08-12FJ9OM | "2 |[1%e-12| 37.0 | 1.46 | 70.0 | 2.76 | 45.0 | 1.77 32 1Y
W10-10FJOOM | % %-14 | 45.0 | 1.77 | 81.0 | 3.19 | 45.0 | 1.77 27 16
— W10-12FJOOM | % | 1%e-12| 45.0 | 1.77 | 81.0 | 3.19 | 47.0 | 1.85 32 14
W12-10FJOOM | % %-14 | 55.0 | 216 | 95.0 | 3.74 | 54.0 | 2.12 27 16
W12-12FJOOM | % |1%e-12| 55.0 | 2.16 | 95.0 | 3.74 | 53.0 | 2.09 32 1Y
W12-14FJ9OM | 3 | 1%4e-12| 55.0 | 2.16 | 95.0 | 3.74 | 54.0 | 2.12 36 176
W12-16FJ9OM | 3% |1%e-12| 55.0 | 2.16 | 95.0 | 3.74 | 56.0 | 2.20 38 1%
W16-16FJ9OM 1 1%e-12| 71.0 | 2.79 | 122.0| 4.80 | 70.0 | 2.75 38 1%
W16-20FJ9OM 1 1%-12 | 71.0 | 2.79 | 122.0 | 4.80 | 70.0 | 2.75 50 2
W20-20FJ9OM | 1% | 1% -12 | 86.0 | 3.38 | 143.0 | 5.63 | 82.0 | 3.23 50 2
W20-24FJ9OM | 1% | 174-12 | 86.0 | 3.38 | 143.0 | 5.63 | 82.0 | 3.23 60 2%
W24-24FJ9OM | 1%2 | 178-12| 102.0 | 4.01 | 167.0| 6.57 | 96.0 | 3.78 60 2%
W32-32FJ90M 2 | 22-12|137.0| 5.39 | 207.0 | 8.15 | 134.0 | 5.27 70 2%

rK% ; WO06-06FJ90M | % | %e-18 | 31.0 | 1.22 | 61.5 | 242 | 330 | 1.30 | 19 %
1 F

9SOH |eJidg 1no / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX 183



9J391ld OM 1

9SOH |eJidg Jno 4 / paplelg - Sauag M m

184

Two Piece

FJI0L Jic 37°Female Swivel - 90° Elbow Long Drop

WO04-04FJ90L
W04-05FJ90L
W04-06FJ90L
WO06-06FJ90L
WO06-08FJ90L
WO08-08FJ90L
WO08-10FJ90L
W10-10FJ90L
W10-12FJ90L
W12-12FJ90L
W16-16FJ90L
W20-20FJ90L

1Y

A6 - 20

Y2 - 20
%e - 18
%e - 18
¥%-16
Y% -16
%-14
% -14
16 - 12
1116 - 12
1%46 - 12
1% -12

116
116
14
14
1%

MF ORFS Male

Part

Number

W04-04MF
W04-06MF
W05-06MF
W06-06MF
W06-08MF
WO06-10MF
W08-08MF
W08-10MF
W08-12MF
W10-10MF
W10-12MF
W12-12MF
W12-16MF
W16-16MF
W20-20MF
W24-24MF

%e
Y8
s
s
Y2
V2
k)
%8
%
Ya
Ya

14
12

%e - 18
46 - 16
46 - 16
46 - 16
%6 - 16
1-14
%6 - 16
1-14
1%6 - 12
1-14
136 - 12
1%6 - 12
176 - 12
176 - 12
116 - 12
2-12

146
/8
116
14
146
1Y
14
1%
1%
11%6
2%

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"




Two Piece

MFK oORFs Male Bulkhead

Part

Number

WO06-06MFK* | 3% | "46-16 [ 47.0 [1.85| 77.0 |3.03| 19 | %
WO08-08MFK* | V2 | '346-16 | 50.8 [2.00| 83.3 |3.28| 22 | &

9J31d OM 1

* Locknut included.

FF ORFS Female Swivel

Part

Number

WO04-04FF Va %e6-18 | 26.5 |1.04 | 545 (214 | 17 | e | 14 | Y6
WO04-06FF Va | 1e-16 | 28,5 | 1.12| 56.5 |2.22 | 22 | 16 | %
WO04-08FF Va | %6-16 | 32.5 [1.28| 60.5 | 2.38 | 24 1 19 | %
WO05-06FF %e | "e-16 | 28.5 (1.12| 56.5 | 222 | 22 % | 16 | %
WO06-04FF % %e6-18 | 26.5 |1.04 | 57.0 [2.24| 17 | e | 16 | %
WO06-06FF % | %e-16 | 28,5 [1.12| 59.0 | 2.32 | 22 B | 16 | %
WO06-08FF % | %he-16 | 325 |1.27 | 63.0 | 248 | 24 1 19 | %
WO08-06FF V2 | 1"e-16 | 30.5 |1.20 | 63.5 |2.50 | 22 B | 19 | Y%
WO08-08FF 2 | %e-16 | 33.5 [1.31| 66.5 | 2.61 | 24 1 19 | %
WO08-10FF V2 1-14 | 395|155 | 725 (2.85| 30 | 1%e | 24 1
WO08-12FF Y2 | 1%e6-12 | 435 |1.71| 76.5 | 3.01 | 36 | 1716 | 27 | 1V1e
W10-08FF % | %e-16 | 35.7 [1.41 | 71.5 |2.81| 24 1 24 1
W10-10FF % 1-14 | 395|155 75,5 (297 | 30 | 1%e | 24 1
W10-12FF % | 1%e6-12 | 435 [1.71| 795 |3.12| 36 | 176 | 27 | 116
W12-10FF Ya 1-14 | 41.5|1.63| 82.0 {3.22| 30 | 1%e | 27 | 1V4e
W12-12FF ¥ | 1%46-12 | 445 [1.75| 85.0 |3.34| 36 | 176 | 27 | 116
W12-16FF ¥ |1%4e-12 | 475 (187 | 88.0 |3.46| 41 | 1% | 36 | 176
W16-12FF 1 1%6-12 | 47.0 | 1.85| 98.0 (3.85| 36 | 176 | 32 | 1V4
W16-16FF 1 146-12 | 49.0 | 1.92| 100.0 |3.93 | 41 | 1% | 36 | 176
W16-20FF 1 |1"%e-12| 50.5 [ 1.98 | 102.0 | 4.01 | 50 2 41 | 1%
W20-20FF 1% [ 11%46-12| 51.0 | 2.00 | 109.0 | 4.29 | 50 2 41 | 1%
W20-24FF 14 2-12 | 545 |215| 112.0 |[441| 60 | 2% | 50 2
W24-24FF 1% 2-12 | 545|214| 119.0 |4.68| 60 | 2% | 50 2

D NN

L
=

B 72 /141 Z

9SOH |eJidg 1no / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"

185



9J391ld OM 1

9SOH |eJidg Jno 4 / paplelg - Sauag M m

186

Two Piece

FF ORFS Female Swivel - 45° Elbow

Part

Number

WO04-04FF45
W04-06FF45
WO05-06FF45
WO06-04FF45
WO06-06FF45
WO06-08FF45
WO08-06FF45
WO08-08FF45
WO08-10FF45
WO08-12FF45
W10-10FF45
W10-12FF45
W12-10FF45
W12-12FF45
W12-16FF45
W16-16FF45
W16-20FF45
W20-20FF45
W24-24FF45

%e
Y
RZ]
s
2
2
V2
2
%
%
Ya
Ya
Ya

1%
1%

%e - 18
46 - 16
46 - 16
%e - 18
46 - 16
136 - 16
46 - 16
%6 - 16
1-14
1%6 - 12
1-14
1%6 - 12
1-14
1%6 - 12
1746 - 12
1746 - 12
116 - 12
16 - 12
2-12

116

7

%

1346
176
1%1e
176
1%1e
176
1%
1%

2%

FORSAFLEX"

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.




Two Piece

FFO90S ORFS Female Swivel - 90° Elbow Short Drop

9J31d OM 1

WO04-04FF90S | v+ | %e-18 | 27.0 [1.06 | 55.0 | 217 |21.0 | 0.83 | 17 | "%
WO04-06FF90S | Vs | "6-16 | 27.0 [ 1.06 | 55.0 | 2.17 | 24.0 | 0.94 | 22 | 7
WO05-06FF90S | %6 | 46-16 | 29.0 [ 1.14 | 57.0 | 2.24 | 25.0 | 0.98 | 22 | 7
WO06-04FF90S | % | %e-18 | 30.0 [ 1.18 | 60.5 |2.38 | 22.0 | 0.87 | 17 | "%
WO06-06FF90S | % | "46-16 | 31.5 [ 1.24 | 62.0 |2.44 | 24.5|096 | 22 | %
RIS ——<S) | W06-08FF90S | % | '%s-16 | 31.0 |1.22 | 61.0 | 240 (30.0 | 1.18| 24 | 1
s j'__ WO08-06FF90S | " | 1%6-16 | 37.0 | 1.46 | 70.0 | 276 | 24.5|0.96 | 22 |
/ [y WO08-08FF90S | % | '%e-16 | 39.0 | 1.54 | 72.0 |2.83(31.0|1.22| 24 | 1
ﬂ WO08-10FF90S | % | 1-14 | 39.0 | 1.54 | 72.0 |2.83 | 34.0 | 1.34 | 30 | 1%
iL WO08-12FF90S | % | 1%e-12 | 39.0 | 1.54 | 72.0 | 2.83 | 42.0 | 1.65 | 36 | 1%
W10-08FF90S | % | '%6-16 | 41.0 [1.61 | 75.0 |2.95(31.0[1.22| 24 | 1 B
J W10-10FF90S | % | 1-14 | 45.0 [1.77 | 81.0 | 3.19|35.0 | 1.38 | 30 | 1%
- W10-12FF90S | % | 1%e-12 | 45.0 [ 1.77 | 81.0 | 3.19 | 42.0 | 1.65 | 36 | 1% é
W12-10FF90S | % | 1-14 | 465 | 1.83 | 83.5 |3.29 | 35.0 | 1.38 | 30 | 1%
W12-12FF90S | % | 1%e-12 | 55.0 | 217 | 95.0 | 3.74 | 45.0 | 1.77 | 36 | 1% %
W12-16FF90S | % | 17%e-12 | 55.0 | 217 | 95.0 | 3.74 | 49.0 | 1.93 | 41 | 1% =,
W16-16FF90S | 1 | 17%e-12 | 71.0 | 2.79 | 122.0 | 4.80 | 55.0 | 217 | 41 | 1% ®
W16-20FF90S | 1 |1'%e-12| 71.0 | 2.79 | 122.0 | 4.80 | 58.0 | 2.28 | 50 | 2 C{D
W20-20FF90S | 1% |1'%e-12| 86.0 | 3.39 | 143.0 | 5.63 | 63.0 | 248 | 50 | 2 o
W24-24FF90S | 1% | 2-12 |102.0 | 4.02 | 167.0 | 6.57 | 73.0 | 2.87 | 60 | 2% =
L.
Q.
®
o
~~
Part .y
Number (@)
K _(5) | WO4-04FF90L | % | %e-18 | 29.0 | 1.14 | 57.0 | 224 | 46 | 1.81| 17 | "We E
1 = iF WO04-06FF90L | % | "e-16 | 27.0 | 1.06 | 55.0 | 216 | 54 |212| 22 | % (@)p)
| | | WO0B-06FF90L | % | "%6-16 | 34.0 | 1.33 | 64.5 | 253 | 54 |212| 22 | % | O,
H WO06-08FF90L | % | '%e-16 | 34.0 |1.33 | 64.5 | 253 | 64 | 251 | 24 | 1 Q
L WO08-08FF90L | % | '%e-16 | 39.0 | 1.53 | 72.0 | 2.83 | 64 |2.51 | 24 | 1 —
WOB-10FF90L | % | 1-14 | 300 |1.53 | 720 |2:83| 70 |275| 30 | 19|
W10-10FF90L | % | 1-14 | 450 |1.77 | 81.0 | 3.18 | 70 | 2.75| 30 | 1% 8
W12-12FF90L | % | 1%e-12 | 54.0 | 212 | 95.0 |3.74 | 96 |3.77| 36 |1%e| (D

W16-16FF90L 1 146-12 | 71.0 | 2.79 | 122.0 | 480 | 114 | 4.48 | 41 | 1%
W20-20FF90L | 1% [1'%e-12| 83.3 | 3.28 | 141.0 | 555 | 130 | 5.12 | 50 2

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"

187



9J391ld OM 1

9SOH |eJidg Jno 4 / paplelg - Sauag M m

188

Two Piece

Part

MA sAE 45°Male

o

e

F
f Number
H
¢ WO05-06MA %e | %-18
L WO06-06MA % | %-18
W12-12MA % | 1t%he-14

56.2 | 2.
58.7 | 2.
83.9 | 3.

16

Part
Number

WO04-06FA
WO05-06FA
WO06-06FA
W10-12FA
W12-12FA

in

Va %-18
%e | %-18
s % -18
% | 1%e-14
Y [ 1%e-14

23.0
23.5
23.5
31.8
31.8

0.90
0.92
0.92
1.25
1.25

51.0
51.5
54.0
78.0
72.3

2.02
2.02
212
3.07
3.27

14
14

Part
Number

WO05-06FA45
WO06-06FA45
W12-12FA45

r
wwrﬁf?rl\
\

0+

% -18
% -18
1%6 - 14

FA45 sAE 45°Female Swivel - 45° Elbow

1

Part
S Number

WO05-06FA90
WO06-06FA90
W12-12FA90

% -18
% -18
16 - 14

1

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"



B
3 1

Part

Number

W04-04MOB
W04-05MOB
W04-06MOB
W04-08MOB
W06-06MOB
W06-08MOB
W06-10MOB
W08-08MOB
W08-10MOB
W08-12MOB
W10-10MOB
W10-12MOB
W12-12MOB
W12-16MOB
W16-16MOB

MOB O-Ring Boss Male

e - 20
Y2 - 20
%e - 18
% -16
%e - 18
% -16
%-14
Y -16
% -14
116 - 12
% -14
116 - 12
16 - 12
1%e - 12
1%e - 12

Two Piece

“/IG

/s

K

1Y

1Y,

1Y

1%
1%

il
il=n

Part
Number

W04-04MOBX
W04-06MOBX
W06-06MOBX
W06-08MOBX
W08-08MOBX
W08-10MOBX
W10-10MOBX
W12-12MOBX

e - 20
%e - 18
%e - 18
% -16
% -16
% -14
% -14
16 - 12

16
16
1Y

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"

9J31d OM 1

9SOH |eJidg 1no / paplelg - Sauag M m

189



Two Piece

MOBX90B 0-Ring Boss Male Swivel - 90° Block Elbow

Part

Number

H 3 1 | W04-06MOBX90B | V4 %e-18 | 32.0 | 1.26 | 60.0 | 2.36 | 47.4 [ 1.87 | 19 Ya
W06-06MOBX90B | % %e-18 | 32.0 [ 1.26 | 63.0 | 2.36 | 48.0 | 1.88 | 19 Ya
W06-08MOBX90B | 3 %-16 | 33.0 | 1.36 | 63.0 | 2.48 | 50.0 | 1.97 | 22 %
W08-08MOBX90B | % %-16 | 33.0 | 1.30 | 66.0 | 2.60 | 51.0 | 2.00 | 22 !
W08-10MOBX90B | % %-14 | 33.0(1.30 | 66.0 | 2.60 | 55.0 [ 2.16 | 26 | 11
W12-12MOBX90B | % 1%6-12 | 43.0 | 1.69 | 84.0 | 3.31 | 65.0 | 2.56 | 32 | 1V

e S
S

9J391ld OM 1

-

f— T —

[T

)

HM Hose Mender

| Part '@5‘
Number in
WO04-04HM Ya 13.0 0.51 70.0 2.75
L H W06-06HM % 13.0 0.51 74.0 2.91
W08-08HM Yo 15.0 0.59 81.0 3.18
W12-12HM % 18.0 0.71 99.0 3.89
L W16-16HM 1 21.0 0.83 123.0 4.84

SP Imperial Standpipe

Part ©r E

I
m
|

* I Number in
H M W04-04SP Ya 6.3 Va 305 | 1.20 | 240 | 094 | 58,5 | 2.30
+ _$~u—t WO06-06SP ¥ 9.5 Y8 320 | 1.26 [ 26.0 | 1.02 | 62.5 | 2.46
L L WO08-08SP Y2 12.7 Y2 325 | 1.28 | 26.0 | 1.02 | 65.5 | 2.58
E W12-12SP Ya 19.0 Ya 445 | 1.75 | 36.0 | 1.42 | 85.0 | 3.35
— i W16-16SP 1 254 1 495 | 1.95 | 40.0 | 1.57 | 100.0 | 3.94

9SOH |eJidg Jno 4 / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

190 FORSAFLEX



Two Piece

MIX SAE Inverted Flare Male Swivel

9J31d OM 1

Part
Number
F-
7 W04-03MIX Va 35 -24 38.3 1.51 66.8 2.63 9.5 3
H WO04-04MIX a 746 - 24 39.1 1.54 67.8 2.67 | 111 A6
£ W04-05MIX a 1% -20 42.2 1.66 70.6 2.78 | 12.0 15
L
ZI WO06-04MIX 34 746 - 24 39.9 1.57 70.6 2.78 | 11.1 746
WO06-05MIX 34 1% -20 42.4 1.67 73.1 2.88 | 12.0 1)
— WO06-06MIX 34 5% -18 43.7 1.72 74.4 2.93 | 16.0 S
W06-08MIX 3 3% -18 48.5 1.91 79.2 3.12 | 19.0 3
WO08-08MIX 1 3 -18 49.0 1.93 82.3 3.24 | 19.0 3
~— K ﬂ
- Part
% Number E
W04-03MIX45 s 3%-24 1416 |1.64| 701 276 113,51 0.53 | 9.5 3p U)
i WO04-04MiX45 4 76-24 | 51.8 [2.04| 80.3 | 3.16 (145 0.57 | 11.1 | e CD
L WO04-05MIiX45 4 % -20 | 521 | 2.05| 81.5 [ 3.21 [16.5|0.65|12.0| 12 C:D -
WO06-05MIX45 | % | 1%-20 | 50.0 | 1.97 | 80.5 | 3.17 | 16.5|0.65 | 12.0| o
WO06-06MIX45 3 5% -18 | 52.6 | 2.07 | 83.0 | 3.27 [ 18.0| 0.71 |16.0 | 3%& 1
H WO08-08MIX45 15 %-18 | 64.8 |255| 97.8 | 3.85|21.6|0.85|19.0| 34 w
—
Q
o
D
. . o
MIX90 SsAE Inverted Flare Male Swivel - 90° Elbow g
K Part g-l
S Number c
)
F W04-03MIX90 s 3%-24 | 325 |11.28 | 61.0 [ 240 |24.6 | 0.97 | 9.5 3k -
/ f N WO04-04MIX90 4 6-24 | 404 | 1.59 | 68.8 [ 2.71 |27.9|1.10 | 11.1 | T4e _g)
|| 7 H W04-05MIX90 s 1-20 | 42.7 | 1.68 | 71.1 2.80 ([325(1.28(12.0| 12 ;'
% l L WO06-05MIX90 | % | %-20 | 434 | 1.71 | 73.9 | 2.91 [32.5[1.28 |12.0| * Q
WO06-06MIX90 3 5% -18 | 483 | 1.90 | 78.7 | 3.10 [ 36.8 | 1.45|16.0 | °& I
— WO06-08MIX90 34 3,-18 | 55.6 | 2.19 | 86.1 3.39 145.2|1.78(19.0 | 34 O
WO08-08MIX90 1 34 -18 | 56.1 | 2.21 89.1 3.51 |45.2(1.78 | 19.0 | %4 %

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX 191



9J391ld OM 1

9SOH |eJidg Jno 4 / paplelg - Sauag M m

192

Two Piece

i ;

= 1§ H

L

® -
|

H
f_iL

o (7
& g "
L

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

MRNS SAE Flareless Com

W04-04MRNS
W04-05MRNS
WO06-05MRNS
WO06-06MRNS
WO06-08MRNS
WO08-08MRNS
W08-10MRNS
W12-12MRNS
W16-16MRNS

he-20 | 24.0
¥2-20 | 25.3
¥%-20 | 26.0
%e-18 | 26.8
¥%-16 | 30.0
¥%-16 | 30.4
%-14 | 32.3
1%e6-12 | 35.7
1%e-12 | 36.7

ression

e
A
/A

1
11

16
176

FG Female Grease

Part

Number

WO04-08FG
WO06-08FG

Va Ve -27
% Ve - 27

WO04-04FJIS
WO06-06FJIS
WO08-08FJIS
W10-10FJIS
W12-12FJIS
W16-16FJIS
W20-20FJIS
W24-24FJIS

1Y
1%

Ya-19 24.0
%-19 26.0
Y2-14 30.0
% -14 35.0
Ya-14 36.0
1-11 40.0
1%-11 | 46.0
1%-11 | 47.0

16
1346
1Vs
1%

2%

FORSAFLEX"




Two Piece

FJIS90 Jis Female Swivel (Toyota) - 90° Elbow

9J31d OM 1

S
e
/ 1 WO04-04FJIS90 | Ya Ya-19 270 |1.06 | 53.0 [ 2.08| 27 |1.06| 19 | %
H WO06-06FJIS90 | 3% % -19 30.0 (1.18 | 63.0 (248 | 29 (114 | 22 | "4
L § WO08-08FJIS90 | 2 Y2-14 410 |1.61| 70.0 [ 275 | 38 |1.49| 27 | 1%
— W12-12FJIS90 | % Y -14 65.0 | 256 | 109.0 [ 4.29 | 57 | 224 | 32 | 1V
= W16-16FJIS90 1 1-11 710 | 280 | 118 [465| 66 |2.60| 41 | 1%

FK Komatsu Female Swivel

WO04-12FK Va M12x1.5
WO04-14FK Va M14x1.5 | 24.0 | 0.94 | 525 | 2.06 | 19 Ya 19 Ya
WO04-18FK Va M18x1.5 | 24.0 | 0.94 | 52,5 | 2.06 | 24 1 19 Ya
WO06-14FK % M14x1.5 [ 24.0 | 0.94 | 545 | 214 | 19 Ya 19 Ya
WO06-16FK % M16x1.5 | 22.2 | 0.87 | 52.7 | 2.07 | 22 /s 19 Ya

r i " W06-18FK s M18x1.5 | 24.3 | 0.95 | 54.8 | 215 | 24 1 19 Ya
i i W06-20FK % M20x1.5 | 29.0 | 1.14 | 59.0 | 2.32 | 25.4 | 1 22 /8
H WO06-22FK % M22x1.5 | 29.0 | 1.14 | 59.0 | 2.32 | 27 | 1%e | 22 %

F

WO08-18FK V2 M18x1.5 | 26.0 | 1.02 | 59.0 | 2.32 | 24 1 22 %

WO08-22FK 2 M22x1.5 | 26.5 | 1.04 | 595 | 2.34 | 27 | 1Ye | 27 | 1Vie
WO08-24FK kz) M24 x1.5 | 29.9 | 1.17 | 629 | 247 | 32 | 1Va | 32 14
W10-24FK % M24 x1.5 | 29.9 | 1.17 | 65.9 | 259 | 32 | 1V | 32 14
W12-24FK Ya M24x1.5 | 31.0 | 1.22 | 71.5 | 2.81 32 | 1% | 32 14
W12-30FK Ya M30x1.5 | 33.0 | 1.29 | 74.0 | 291 | 36 | 1%e | 36 | 1%
W12-33FK Ya M33x1.5 | 345 | 1.35 | 76,5 | 3.01 | 41 1% | 36 | 17
W16-33FK 1 M33x1.5 | 345 | 1.35 | 89.5 | 3.52 | 41 1% | 36 | 17%s
W16-36FK 1 M36x1.5 | 39.0 | 1.53 | 90.5 | 3.56 | 46 |1'%e| 4 1%
W20-36FK 1% | M36x1.5 | 40.0 | 1.57 | 97.5 | 3.84 | 46 | 1% | 41 1%
W24-42FK 1% | M42x1.5 | 425 | 1.67 | 107.0 | 4.21 50 2 46 | 1%

|
9SOH |eJidg 1no / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX 193



Two Piece

FK45 Komatsu Female Swivel - 45° Elbow

part  +OF H L K
F. Number ; 5

WO04-14FK45 | V4 M14x1.5 | 34.0 | 1.33 | 62.0 | 2.44 | 16.0 | 0.62 | 19 Ya

W04-18FK45 | % | M18x1.5 | 33.0 | 1.29 | 61.0 | 2.40 | 16.0 | 0.62 | 24 1

=]
=
=
- 9T
SE,
T
&

H WO06-18FK45 ¥ M18x1.5 | 41.0 | 1.61 715 [ 2.81 | 19.0 | 0.74 24 1
L WO08-22FK45 1) M22x1.5 | 53.5 | 210 | 86.5 | 3.40 | 25.0 | 0.98 27 146
% W10-24FK45 ) M24x1.5 | 54.0 | 212 | 89.8 | 3.53 | 26.0 | 1.02 32 1Ya
; W12-30FK45 3 M30x1.5 | 59.5 | 2.34 | 100.0 | 3.93 | 28.0 | 1.10 36 1746
FK90 Komatsu Female Swivel - 90° Elbow
Part '@' H L K
- K 5 F
S Number in
? A F WO04-14FK90 Ya M14x1.5 | 25.0 | 0.98 | 53.0 | 2.08 | 28.0 | 1.10 19 3
Rz WO04-16FK90 Y4 M16x1.5 | 29.0 | 1.14 | 54.0 | 2.12 | 29.0 | 1.14 19 34

WO04-18FK90 | 4 M18x1.5 | 24.0 | 0.94 | 52.0 | 2.04 | 30.0 | 1.18 | 24 1
WO06-18FK90 | % M18x1.5 | 31.0 | 1.22 | 61.5 | 242 | 37.0 | 1.45 | 24 1
WO08-22FK90 | % M22x15 | 41.0 | 1.61 | 74.0 [ 291 | 48.0 | 1.88 | 27 | 1V
W10-24FK90 | % M24x1.5 | 420 | 1.65 | 77.8 | 3.06 | 50.0 | 1.96 | 32 1Y
W12-30FK90 | % M30x1.5 | 485 | 1.90 | 89.0 [ 3.50 | 57.0 | 224 | 36 | 1%

| T T,
%
)
%
]
4
Y
/.

9SOH |eJidg Jno 4 / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

194 FORSAFLEX



Part

%

N

SR 77777777 2

FLK Komatsu Flange

A Number
W10-10FLK45
c H
L

in

%

Part ~+0A

FLK45 Koatsu Flan

C

Number
W10-10FLK S 6.0 34.2 1.34 49.3 1.94 85.3 3.36
ge - 45° Elbow

W10-10FLK90-044

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"

9J31d OM 1

9SOH |eJidg 1no / paplelg - Sauag M m

195



Two Piece

MBSPT BsPT Male

9J391ld OM 1

Part

Number
F = W04-02MBSPT Va s - 28 21.0 0.83 49.0 1.93 12 2
:Z WO04-04MBSPT Va s -19 25.0 0.98 53.0 2.09 | 15 %
= ﬂ W04-06MBSPT a % -19 26.0 1.02 54.0 212 19 Y
| L W06-04MBSPT % Va-19 26.0 1.02 56.0 220 | 15 %
WO06-06MBSPT Y % -19 27.0 1.06 57.0 2.24 19 Y
— L W06-08MBSPT % -14 32.0 1.26 63.0 248 | 22 %
W08-08MBSPT 2 2-14 33.0 1.30 66.0 2.60 22 /s

W12-12MBSPT Ya Ya-14 36.0 | 1.41 770 | 3.03 | 27 | 1%
W16-16MBSPT 1 1-11 430 | 1.69 | 940 | 3.70 | 36 | 17%s

MBSPP MBSPP Male

Part

Number

W03-02MBSPP %e - 28 200 | 0.79 | 45.0 | 1.77 | 14 %e
W03-04MBSPP %e Ya-19 240 | 094 | 49.0 | 193 [ 19 Ya
W04-02MBSPP Va 6 -28 200 | 0.79 | 48.0 | 1.89 | 14 %e
W04-04MBSPP Va Ya-19 25.0 | 0.98 | 53.0 | 2.09 | 19 Ya
W04-06MBSPP Va % - 19 270 | 1.06 | 55.0 | 216 | 22 /8
W04-08MBSPP Va Ya-19 320 | 1.26 | 60.0 | 236 | 27 | 1%e
W05-06MBSPP %e % -19 270 | 1.06 | 55.0 | 216 | 22 %
— F = W06-04MBSPP % Ya-19 25.0 | 0.98 | 55.0 | 2.16 | 19 Ya

W06-06MBSPP % % -19 270 | 1.06 | 58.0 | 2.28 | 22 s
N W06-08MBSPP % 2-14 320 | 1.26 | 620 | 244 | 27 | 1%

W08-06MBSPP 2 % - 19 28.0 | 1.10 | 61.0 | 2.40 | 22 /8
|J— W08-08MBSPP k2] 2-14 33.0 | 1.30 | 66.0 | 260 | 27 | 1%e

W08-10MBSPP k2] % - 14 350 | 1.38 | 68.0 | 268 [ 30 | 1%e
W08-12MBSPP 2 Y -14 360 | 142 | 69.0 | 272 | 32 1Y
W10-08MBSPP % 2-14 330 | 1.30 | 69.0 | 272 | 27 | 1V
W10-10MBSPP % % -14 350 (138 | 71.0 | 279 | 30 | 1%
W10-12MBSPP % Y -14 360 | 142 | 72.0 | 2.83 | 32 1Ya
W12-12MBSPP Ya Y -14 370 | 146 | 77.0 | 3.03 | 32 1Y
W12-16MBSPP Ya 1-11 420 | 1.65 | 82.0 | 3.23 | 4 1%
W16-16MBSPP 1 1-11 430 | 1.69 | 940 | 3.70 | 4 1%
W16-20MBSPP 1 14 -11 46.0 | 1.81 97.0 | 3.82 | 50 2

W20-20MBSPP 1% 14 -11 47.0 | 1.85 | 105.0 | 413 | 50 2

W24-24MBSPP 1% 172 - 11 50.0 | 1.97 | 115.0 | 452 | 55 | 2%e
W32-32MBSPP 2 2-11 56.0 | 2.20 | 126.0 | 496 | 70 2%

9SOH |eJidg Jno 4 / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

198 FORSAFLEX



T =

FBSPP Bs

PP Female Swivel

<

Part
Number
WO03-02FBSPP
WO03-04FBSPP
WO04-02FBSPP
WO04-04FBSPP
W04-06FBSPP
WO05-06FBSPP
WO06-04FBSPP
WO06-06FBSPP
WO06-08FBSPP
W08-06FBSPP
WO08-08FBSPP
WO08-10FBSPP
W08-12FBSPP
W10-08FBSPP
W10-10FBSPP
W10-12FBSPP
W12-12FBSPP
W12-16FBSPP
W16-12FBSPP
W16-16FBSPP
W16-20FBSPP
W20-20FBSPP
W24-24FBSPP
W32-32FBSPP

%e
e
Va
Va
Va
%e
%
Y
Y
2
Y2
2
2
%
%
%
Ya
Ya

14
12

F

% - 28
Ya-19
Y- 28
Ya-19
% - 19
% - 19
Ya-19
% - 19
Y- 14
% - 19
Ya-14
% - 14
Ya - 14
Yo - 14
% - 14
% - 14
Y - 14
1-11
% - 14
1-11
V- 11
1 -1
1%-11
2-11

Two Piece

16
%
16
136
14
16
1%
14
1Y,
1%
14
1%

2%6
2%

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"

9J31d OM 1

9SOH |eJidg 1no / paplelg - Sauag M m

197



Two Piece

FBSPP45 BsPP Female Swivel - 45° Elbow
Part '@'

Number

WO03-02FBSPP45 | 3% | %-28 | 33.0 |1.30| 58.0 | 2.28 | 14.0 | 0.55 | 14 %e
WO04-02FBSPP45 | V4 ¥%-28 | 36.0 |1.42| 640 | 252 | 16.0 | 0.63 | 14 %e
Q‘ K WO04-04FBSPP45 | 'a ¥a-19 | 37.0 |1.46| 65.0 | 256 | 16.0 | 0.63 | 19 Ya
WO04-06FBSPP45 | V4 %-19 | 40.0 |1.57 | 68.0 (268 | 19.0 | 0.75 | 22 /]

WO06-06FBSPP45 | % %-19 | 420 (1.65| 730 [287| 19.0 | 0.75 | 22 %8

WO06-08FBSPP45 | 3 ¥2-14 | 44.0 (1.73| 75.0 |2.95| 21.0 | 0.83 | 27 116
WO08-08FBSPP45 | 12 ¥%2-14 | 49.0 |1.93| 82.0 |3.23 | 22.0 | 0.87 | 27 116
WO08-10FBSPP45 | 2 %-14 | 49.0 (193 82.0 | 3.23 | 22.0 | 0.87 | 30 1%e
W10-10FBSPP45 | % %-14 | 54.0 (212 | 90.0 | 3.54 | 24.0 | 0.94 | 30 1%e
W10-12FBSPP45 | % %-14 | 57.0 | 2.24 | 93.0 (3.66 | 26.0 | 1.02 | 32 14
W12-12FBSPP45 | % %-14 | 66.0 (2.60| 106.0 | 417 | 28.0 | 1.10 | 32 1Ys
W16-16FBSPP45 1 1-11 | 84.0 |3.31 | 135.0 | 5.31 | 36.0 | 1.42 | 41 1%
W20-20FBSPP45 | 1% |1Ya-11|100.0 | 3.94 | 157.0 | 6.18 | 43.0 | 1.69 | 50 2

W24-24FBSPP45 | 1'%2 | 12-11| 116.0 | 4.57 | 180.0 | 7.09 | 49.0 | 1.93 | 55 2%e
W32-32FBSPP45 2 2-11 | 157.0 | 6.18 | 227.0 | 8.94 | 69.0 | 272 | 70 2%,

9J391ld OM 1

i

Part '@'

Number

WO03-02FBSPP90 | %16 ¥.-28 | 21.0 | 0.83 | 46.0 | 1.81 | 23.0 | 091 | 14 %he
WO04-02FBSPP90 | 4 .-28 | 26.0 | 1.02 | 54 | 212 | 28.0 |1.10| 14 %e
WO04-04FBSPP90 | 4 Va-19 | 26.0 | 1.02 | 54 | 212 | 28.0 |1.10| 19 Ya
K W04-06FBSPP90 | a4 %-19 | 26.0 | 1.02 | 54 | 212 | 320 |1.26 | 22 %
5@ WO06-06FBSPP90 | 3 ¥%-19 | 31.0 | 1.22 | 61 240 | 350 (1.38| 22 %
H F WO06-08FBSPP90 | 3% 2-14 | 31.0 | 1.22 | 61 240 | 38.0 |1.50( 27 | 1%
K WO08-08FBSPP90 | ' ¥2-14 | 37.0 | 146 | 70 | 275 | 420 |1.65| 27 | 1V
WO08-10FBSPP90 | ' %-14 | 37.0 | 1.46 | 70 | 275 | 430 (1.69 | 30 | 1%
W10-10FBSPP90 | % %-14 | 45.0 | 1.77 | 80 | 3.15 | 46.0 (1.81 | 30 | 1%
W10-12FBSPP90 | 9% %-14 | 45.0 | 1.77 | 80 | 3.15 | 50.0 | 1.97 | 32 14
W12-12FBSPP90 | % %-14 | 54.0 | 212 | 95 | 3.74 | 56.0 | 2.20 | 32 1Y
W12-16FBSPP90 | % 1-11 | 540 [ 212 | 95 | 3.74 | 59.0 | 2.32 | A1 1%
W16-12FBSPP90 1 %-14 | 70.0 | 276 | 121 | 4.76 | 75.0 | 295 | 32 14
W16-16FBSPP90 1 1-11 [ 70.0 | 276 | 121 | 4.76 | 72.0 | 2.83 | 41 1%
W20-20FBSPP90 | 1% |1%-11| 84.0 | 3.31 | 142 | 559 | 87.0 | 3.43| 50 2
W24-24FBSPP90 | 1%2 | 1%2-11 [100.0 | 3.94 | 165 | 6.50 | 100.0 [ 3.94 | 55 | 2%e
W32-32FBSPP90 2 2-11 |134.0| 5.28 | 204 | 8.03 | 141.0 | 5.55| 70 2%

-

T

9SOH |eJidg Jno 4 / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

198 FORSAFLEX



Two Piece

-

fm— T ]

et D —

[T

!‘mjﬂ

Part
Number

W04-04FBSPP90B
W06-06FBSPP90B
W08-08FBSPP90B

W12-12FBSPP90B
W16-16FBSPP90B

Ya-19
% -19
Y- 14
% -14
1-11

FBSPP90B BsPP Female Swivel - 90° Block Elbow

19 Ya
22 7
27 | 1Ve
32 1Y
41 1%

Part
Number

W04-04MBSPFF
W06-06MBSPFF
W06-08MBSPFF
W08-08MBSPFF
W12-12MBSPFF
W12-16MBSPFF
W16-16MBSPFF

Va-19
% -19
Y2-14
Y2-14
Ya-14
1-11
1-11

146
16
14
1%
1%

T TIIF

Part
Number

WO04-04FBSPFF
W04-06FBSPFF
W06-06FBSPFF
WO06-08FBSPFF
WO08-08FBSPFF
WO08-12FBSPFF
W10-10FBSPFF

W12-12FBSPFF

Ya-19
% - 19
% - 19
Yo-14
Y- 14
% - 14
% - 14
% - 14

16
1Y1e
14
1%e
1%

FORSAFLEX"

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

9J31d OM 1

9SOH |eJidg 1no / paplelg - Sauag M m

199



Two Piece

BJBSP Bsp Banjo

9J391ld OM 1

Py
Part +L%+  Bolt
Number in Size
W03-02BJBSP %6 b 10.2 | 0.40 | 20.0 | 0.79 | 45.0 | 1.72 | 10.0 | 0.39
W04-02BJBSP Va e 10.2 | 040 | 23.0 | 0.90 | 51.0 | 2.01 10.0 | 0.39
Dr <> W04-04BJBSP Va Va 133 | 0.52 | 23.0 | 0.90 | 51.0 | 2.01 14.0 | 0.55
L HT W04-06BJBSP Va % 16.8 | 0.66 | 26.5 | 1.04 | 54.5 | 214 | 17.5 | 0.69
. W06-04BJBSP Y Va 133 | 052 | 24.0 | 0.94 | 545 | 214 | 14.0 | 0.55
W06-06BJBSP % % 16.8 | 0.66 | 24.0 | 0.94 | 54.5 | 214 | 17.5 | 0.69
— W06-08BJBSP ¥ 12 21.0 | 0.83 | 320 | 1.26 | 62.5 | 2.46 | 23.0 | 0.90
W08-06BJBSP ) Y8 16.8 | 0.66 | 26.5 | 1.04 | 59.5 | 2.34 | 17.5 | 0.69
W08-08BJBSP 12 12 210 | 0.83 | 285 | 1.12 | 61.5 | 242 | 23.0 | 0.90
W12-12BJBSP ¥ ¥ 26.5 | 1.04 | 375 | 1.48 | 78.0 | 3.07 | 29.5 | 1.16
ﬂ W16-16BJBSP 1 1 33.5 | 1.32 | 49.0 | 1.93 |100.0 | 3.94 | 375 | 1.48
= BJBSPBT BsP Banjo Bolt
CD Part
® Number
—_
D 02BJBSPBT s - 28 26.0 1.02 21.5 0.85 14 %6
Clﬂ 04BJBSPBT Ya-19 34.3 1.35 29.5 1.16 19 Ya
w HL 06BJBSPBT % -19 40.5 1.59 34.0 1.34 22 /s
—_ ~ 08BJBSPBT 2 -14 46.0 1.81 36.0 1.42 27 1%e
Q_). F 10BJBSPBT %-14 55.0 2.16 45.5 1.79 30 1%6
% 12BJBSPBT % -14 56.0 2.20 48.0 1.89 32 1Va
o} 16BJBSPBT 1-11 69.0 2.72 59.0 2.32 41 1%
S~~~
I
@)
C
-
.
-
Q
o
2]
()

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

200 FORSAFLEX



Two Piece

BJM Metric Banjo

9J31d OM 1

Part "g—} :
Number - Bolt Size
W03-10BJM %e M10 10.2 | 0.40 | 20.0 | 0.79 | 45.0 | 1.77 | 10.0 "he
W04-10BJM Va M10 10.2 | 040 | 23.0 | 091 | 51.0 | 2.01 | 10.0 "he
fy Wo04-12BJM Va M12 121 | 048 | 23.0 | 0.90 | 51.0 | 2.01 | 12.0 2
DL <> T W04-14BJM Ya M14 142 | 0.56 | 23.0 | 0.90 | 51.0 | 2.01 | 14.0 %e
i W06-12BJM Y% M12 121 | 048 | 20.2 | 0.79 | 49.8 | 1.96 | 12.0 2
- W06-14BJM % M14 142 | 0.56 | 24.0 | 0.94 | 545 | 2.14 | 14.0 %6
WO06-16BJM % M16 16.2 | 0.64 | 24.0 | 0.94 | 545 | 214 | 17.5 | /e
_ W06-18BJM Y M18 182 | 0.72 | 27.0 | 1.06 | 57.5 | 226 | 20.5 | 1%e
W08-18BJM e M18 18.2 | 0.72 | 28.1 | 1.11 | 61.1 | 2.40 | 20.5 | %e
W08-20BJM Yo M20 20.2 | 0.80 | 28.5 | 1.12 | 61.5 | 2.42 | 23.0 /8
W08-22BJM Ve M22 222 | 0.87 | 285 | 112 | 61.5 | 242 | 225 | 5%
W10-22BJM % M22 222 | 0.87 | 27.2 | 1.07 | 63.0 | 2.48 | 22.5 | 5/
W12-26BJM Y M26 265 | 1.04 | 415 | 1.63 | 78.0 | 3.07 | 29.5 | 1%
BJMBT wMmetric Banjo Bolt
Part H
Number
10BJMBT [ M10x1.0 21.5 0.85 26.0 1.02 14 %6
12BJMBT [ M12x1.5 25.5 1.00 31.0 1.22 17 e
y L 14BJMBT [ M14x1.5 30.5 1.20 37.5 1.48 19 Ya
= 16BJMBT | M16 x 1.5 32.5 1.28 40.0 1.57 22 s
= 18BJMBT | M18x 1.5 36.5 1.44 44.0 1.73 24 1
20BJMBT |M20x1.5 39.5 1.55 48.0 1.89 27 146
22BJMBT | M22x 1.5 41.5 1.63 50.0 1.97 28 1%
26BJMBT | M26 x 1.5 48.5 1.91 58.0 2.28 32 1%

9SOH |eJidg 1no / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX 201



Two Piece

SPML WMetric Standpipe L/S

9J391ld OM 1

Part '@'

r Em Number
% i W04-06SPML Va 6 024 | 27.5 1.08 21 0.83 | 55.0 | 216
H M W04-08SPML Va 8 0.31 29.5 1.16 23 0.90 | 58.0 | 2.28
+ _iﬁa—t W04-10SPML Va 10 039 | 31.5 1.24 25 0.98 | 60.0 | 2.36
L — W06-10SPML % 10 0.39 | 285 | 1.12 22 0.87 | 59.0 | 2.32
E W06-12SPML RC] 12 0.48 | 31.5 1.24 25 098 | 62.0 | 2.44
—] W08-12SPML Va 12 048 | 325 | 1.28 25 098 | 655 | 2.58
W08-15SPML Yo 15 0.59 | 31.5 1.24 24 0.94 | 64.5 2.54
W08-16SPML Va 16 0.63 | 36.5 1.44 29 1.14 | 69.5 2.74

WO04-06SPML45 Va 6 024|480 (189 | 21 (083 | 77.0 | 3.03 | 24.0 | 0.94

H M W04-08SPML45 Va 8 0.31 |48.0(1.89 | 23 (090 | 76.5 | 3.01 | 24.0 | 0.94
WO04-10SPML45 Va 10 (039|495 (195 | 256 (0.98 | 78.0 | 3.07 | 256.,5 | 1.00

- WO06-10SPML45 % 10 | 0.39 | 62.0 | 244 | 22 | 0.87 | 92.5 | 3.64 | 27.5 | 1.08
% W06-12SPML45 £7) 12 (048 | 625|246 | 25 (098 | 93.0 | 3.66 | 285 | 1.12

; WO08-15SPML45 1) 15 | 059 | 70.5 | 277 | 24 | 0.94 | 103.5| 4.07 | 31.0 | 1.22
WO08-16SPML45 2 16 [ 063|740 (291 | 29 (1.14|107.0| 4.21 | 345 | 1.36

Part '@B’
K Number in

g | l —é W04-06SPML90 Va 6 024 | 24 (094 | 21 083 | 52 | 2.05| 39.0 | 1.53

T / M W04-08SPML90 Va 8 031 | 24 | 094 | 23 | 090 | 52 | 2.05 | 39.0 | 1.53
W04-10SPML90 Va 10 | 039 | 24 | 094 | 25 | 098 | 52 | 2.05 | 41.0 | 1.61
W06-10SPML90 % 10 (039 | 34 | 134 | 22 | 087 | 64 | 252 | 48.0 | 1.89
W06-12SPML90 RZ 12 | 048 | 34 |1.34| 25 | 098 | 64 | 252 | 49.0 | 1.93
Y W08-15SPML90 kZ) 15 (059 | 41 |1.61| 24 | 094 | 74 | 291 | 53.,5 | 2.11
W08-16SPML90 kZ) 16 | 063 | 41 |161 | 29 |1.14 | 74 | 291 | 68.5 | 2.30

-
e

9SOH |eJidg Jno 4 / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

202 FORSAFLEX



T =

| —

Part

Number

W03-12MML
W03-14MML
W04-12MML
W04-14MML
W04-16MML
W04-18MML
W05-16MML
W05-18MML
W06-16MML
W06-18MML
W06-22MML
W08-18MML
W08-22MML
W08-26 MML
W10-26 MML
W10-30MML
W12-26 MML
W12-30MML
W16-36MML
W20-45MML
W24-52MML

in
%e
%e
Ya
4
Va
Va
%e

%e

1
1%

M12x1.5
M14x1.5
M12x1.5
M14 x1.5
M16 x1.5
M18 x 1.5
M16 x1.5
M18 x 1.5
M16 x1.5
M18 x 1.5
M22 x 1.5
M18 x 1.5
M22 x 1.5
M26 x 1.5
M26 x 1.5
M30 x 2.0
M26 x 1.5
M30 x 2.0
M36 x 2.0
M45 x 2.0
M54 x 2.0

L6
L8
L6
L8
L10
L12
L10
L12
L10
L12
L15
L12
L15
L18
L18
L22
L18
L22
L28
L35
L42

MML Metric 24°Male Light - (CEL)
3

Two Piece

Y%e

%e
e
34
e
%
e
Ya
/s
Ya
/8
16
1Y1e
1%e
16
1346
176
1%e
2%6

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"

9J31d OM 1

9SOH |eJidg 1no / paplelg - Sauag M m

203



9J391ld OM 1

9SOH |eJidg Jno 4 / paplelg - Sauag M m

204

Two Piece

T ==

Part

Number

WO03-12FML
WO03-14FML
W04-12FML
W04-14FML
WO04-16FML
W04-18FML
W05-16FML
W05-18FML
W06-16FML
WO06-18FML
W06-22FML
WO08-22FML
WO08-26FML
W10-26FML
W10-30FML
W12-26FML
W12-30FML
W16-36FML
W20-45FML
W24-52FML

1Ys
12

M12x1.5
M14 x1.5
M12x1.5
M14 x1.5
M16 x 1.5
M18 x 1.5
M16 x1.5
M18 x 1.5
M16 x1.5
M18 x 1.5
M22 x 1.5
M22 x 1.5
M26 x 1.5
M26 x 1.5
M30 x 2.0
M26 x 1.5
M30 x 2.0
M36 x 2.0
M45 x 2.0
M52 x 2.0

L6
L8
L6
L8
L10
L12
L10
L12
L10
L12
L15
L15
L18
L18
L22
L18
L22
L28
L35
L42

FML Metric 24° Female Light - (DKOL)

16
16
14
14
176
14
1746
1%

2%

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"




Two Piece

FMLA45 Metric 24° Female Light - 45° Elbow (DKOL)
Part '@'

Number

in

WO03-12FML45 |  %e M12x1.5| L6 | 340 |1.34| 59.0 | 232 | 14.0 | 0.55 | 14 %he
WO03-14FML45 | %e M14x1.5| L8 | 35.0 |1.38| 60.0 | 2.36 | 14.0 | 0.55 | 17 | e
WO04-12FML45 Va M12x1.5| L6 | 35.0 |1.38| 63.0 | 248 | 14.0 | 0.55 | 17 | e
WO04-14FML45 Va M14x1.5| L8 | 36.0 [1.42| 64.0 | 252 | 14.0 [ 0.55 | 17 | e
W04-16FML45 Va M16x1.5| L10 | 38.0 |1.50 | 66.0 | 2.60 | 16.0 | 0.63 | 19 Ya
WO04-18FML45 Va M18x1.5| L12 | 39.0 (1.53 | 67.0 | 2.64 | 17.0 | 0.67 | 22 %
WO05-16FML45 | %6 M16x1.5| L10 | 39.0 |1.53| 67.0 | 2.64 | 17.0 | 0.67 | 19 Ya
WO05-18FML45 | %6 M18x1.5| L12 | 39.0 |1.53 | 67.0 | 2.64 | 18.0 | 0.71 | 22 /8
WO06-16FML45 % M16x1.5| L10 | 39.0 |1.53| 69.0 | 2.72 | 16.0 | 0.63 | 19 Ya
WO06-18FML45 % M18x1.5| L12 | 40.0 (1.57 | 71.0 | 279 | 18.0 | 0.71 | 22 /s
W06-22FML45 % M22x1.5| L15 | 42.0 |1.65| 72.0 | 283 | 19.0 | 0.75 | 27 | 1%
WO08-22FML45 Y2 M22x1.5| L15 | 46.0 (1.81 | 79.0 | 3.11 | 19.0 | 0.75 | 27 | 1V4e
W08-26FML45 Yo M26 x1.5| L18 | 47.0 (1.85| 80.0 |3.15|21.0 (083 | 32 | 1V
W10-26FML45 % M26 x1.5| L18 | 53.0 | 2.09 | 89.0 | 3.50 | 22.0 | 0.87 | 32 | 1V
W10-30FML45 % M30x2.0| L22 | 54.0 [ 2.12| 90.0 | 3.54 | 23.0 [ 0.90 | 36 | 17%e
W12-26FML45 Ya M26 x1.5| L18 | 66.0 | 2.60 [ 107.0 | 4.21 | 29.0 | 1.14 | 32 | 1%
W12-30FML45 Ya M30x2.0| L22 | 62.0 | 2.44 (103.0 | 4.05| 25.0 | 0.98 | 36 | 17e
W16-36FML45 1 M36x2.0 | L28 | 80.0 (3.15(131.0| 5.16 | 31.0 | 1.22 | 41 1%
W20-45FML45 | 1Ya | M45x2.0 | L35 | 96.0 | 3.78 | 154.0 | 6.06 | 40.0 | 1.57 | 50 2
W24-52FML45 | 12 | M52x 2.0 | L42 | 115.4 (453 | 179.0 | 7.05 | 48.0 [ 1.89 | 60 | 2%

9J31d OM 1

T

9SOH |eJidg 1no / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"

205



9J391ld OM 1

9SOH |eJidg Jno 4 / paplelg - Sauag M m

206

Two Piece

- K ——

_-r

—————————— [

fa— T —=

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FMLO0 Metric 24° Female Light - 90° Elbow (DKOL)

Part

Number

WO03-12FML90
WO03-14FML90
W04-12FML90
W04-14FML90
W04-16FML90
W04-18FML90
W05-16FML90
W05-18FML90
W06-16FML90
W06-18FML90
W06-22FML90
W08-22FML90
W08-26FML90
W10-26FML90
W10-30FML90
W12-30FML90
W16-36FML90
W20-45FML90
W24-52FML90

_@_

in
%e
%e
Va
Va
Va
Va
%e
%e
Y%
%
%
2
2
%
%
3/a

1Y
1%

M12x1.5
M14x1.5
M12x1.5
M14 x1.5
M16x1.5
M18 x 1.5
M16 x1.5
M18 x 1.5
M16 x1.5
M18 x 1.5
M22 x 1.5
M22 x 1.5
M26 x 1.5
M26 x 1.5
M30 x 2.0
M30 x 2.0
M36 x 2.0
M45 x 2.0
M52 x 2.0

L6
L8
L6
L8
L10
L12
L10
L12
L10
L12
L15
L15
L18
L18
L22
L22
L28
L35
L42

14
17
17
17
19
22
19
22
19
22
27
27
32
32
36
36
4
50
60

%e
e
e
e
%
%
3
%
3
%
16
16
14
14
176
176
1%

2%

FORSAFLEX"




T =

- —=

Part

Number

W03-14MMS
W03-16MMS
W04-14MMS
W04-16MMS
W04-18MMS
W04-20MMS
W05-18MMS
W05-20MMS
W06-18MMS
W06-20MMS
W06-22MMS
W06-24MMS
W08-22MMS
W08-24MMS
W10-30MMS
W12-30MMS
W12-36MMS
W16-36MMS
W20-42MMS
W20-52MMS
W24-52MMS

in
%e
%e
Va
Va
Va
Va
%e
%e
Y5
%
¥
s
Y2
2
&7
Ya
Ya

1Y,
14
112

M12x1.5
M14 x 1.5
M14x1.5
M16 x 1.5
M18 x1.5
M20 x 1.5
M18 x1.5
M20 x 1.5
M18 x1.5
M20 x 1.5
M22 x 1.5
M24 x 1.5
M22 x 1.5
M24 x 1.5
M30 x 2.0
M30 x 2.0
M36 x 2.0
M36 x 2.0
M42 x 2.0
M52 x 2.0
M52 x 2.0

S6
S8
S6
S8
S10
S§12
§10
S12
$10
S$12
S14
S16
S14
S16
S20
S20
S25
S25
S30
S38
S38

MMS Metric 24° Male Heavy - (CES)
+OF-

Two Piece

1316
1%e
1746
1716
11%6
2%
2%e6

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"

9J31d OM 1

9SOH |eJidg 1no / paplelg - Sauag M m

207



Two Piece

FMS Metric 24° Female Heavy - (DKOS)
Part +03- H

F Tube

9J391ld OM 1

Number in
WO03-14FMS Y16 M14x 1.5 S6 21.0 | 0.83 | 46.0 | 1.81 17 e
WO03-16FMS Y16 M16 x 1.5 S8 21.0 | 0.83 | 46.0 | 1.81 19 Ya
W04-14FMS Va M14 x 1.5 S6 23.0 | 0.90 | 51.0 | 2.01 17 e
W04-16FMS Va M16 x 1.5 S8 22,0 | 0.87 | 50.0 | 1.97 | 19 Ya
W04-18FMS Va M18 x 1.5 S10 24.0 | 0.94 | 52.0 | 2.05 22 i
W04-20FMS Va M20 x 1.5 S§12 240 | 094 | 52.0 | 205 | 24 1
r F o WO05-18FMS %6 M18 x 1.5 §10 24.0 | 0.94 | 52.0 | 2.05 | 22 %
WO05-20FMS %6 M20 x 1.5 S12 24.0 | 0.94 | 52.0 | 2.05 | 24 1
£ |: [ WO06-18FMS Y8 M18 x 1.5 §10 25.0 | 0.98 | 55.0 | 2.16 | 22 %
WO06-20FMS B M20 x 1.5 §12 240 | 094 | 54.0 | 212 | 24 1
WO06-22FMS 8 M22 x 1.5 S14 28.0 | 1.10 | 58.0 | 2.28 | 27 1V1e
WO06-24FMS R/} M24 x 1.5 S16 28.0 | 1.10 | 58.0 | 2.28 | 30 1%6
B L WO08-22FMS Y2 M22 x 1.5 S14 28.0 | 1.10 | 61.0 | 240 | 27 1%1e
WO08-24FMS V2 M24 x 1.5 S16 29.0 | 1.14 | 62.0 | 244 | 30 1%16
W10-30FMS % M30 x 2.0 S20 33.0 | 1.30 | 69.0 | 2.72 | 36 176
W12-30FMS Ya M30 x 2.0 S20 36.0 | 1.42 | 76.0 | 2.99 | 36 176
W12-36FMS Ya M36 x 2.0 825 38.0 | 1.50 | 78.0 | 3.07 | 46 | 1%
W16-36FMS 1 M36 x2.0 | S25 40.0 | 1.57 | 91.0 | 3.58 | 46 | 1'%e
W16-42FMS 1 M42 x 2.0 S§30 40.0 | 1.57 | 91.0 | 3.58 50 2
W20-42FMS 1Va M42 x 2.0 S30 41.0 | 1.61 | 99.0 | 3.90 50 2
W20-52FMS 1% M52 x 2.0 S38 45.0 | 1.77 [103.0 | 4.06 60 2%
W24-52FMS 12 M52 x2.0 | S38 46.0 | 1.81 (110.0 | 4.33 | 60 2%

9SOH |eJidg Jno 4 / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

208 FORSAFLEX



Two Piece

FMS45 Metric 24° Female Heavy - 45° Elbow (DKOS)
Part '@'

Number

WO03-14FMS45 %e |M14x15| S6 | 34.0 |1.34| 59.0 | 2.32(14.0| 0.55 | 17 | Ve
WO03-16FMS45 %e |M16x15| S8 | 35.0 |[1.38 | 60.0 | 2.36 (14.0 | 0.55 [ 19 | %
WO04-14FMS45 Va M14x15| S6 | 35.0 |1.38 | 63.0 | 248 |14.0 | 0.55 | 17 | Ve
W04-16FMS45 Va M16x1.5| S8 | 36.0 |1.42| 64.0 (252 |14.0| 055 |19 | %
WO04-18FMS45 Va M18x1.5| S10 | 38.0 | 1.50 | 66.0 | 2.60 | 16.0 | 0.63 | 22 | 4
W04-20FMS45 Va M20x1.5 | S12 | 39.0 | 1.53 | 67.0 | 2.64 |17.0 | 0.67 | 24 1
WO05-18FMS45 %e |M18x1.5| S10 | 39.0 |1.53 | 67.0 | 2.64 |17.0| 0.67 | 22 | A
WO05-20FMS45 %e |M20x1.5| S12 | 39.0 | 1.53 | 67.0 | 2.64 | 18.0 | 0.71 | 24 1
WO06-18FMS45 % M18x1.5| S10 | 40.0 |1.,57 | 70.0 | 2.75|17.0| 0.67 | 22 | A
WO06-20FMS45 % M20x1.5 | S12 | 40.0 |1.57 | 71.0 | 2.79 | 18.0 | 0.71 | 24 1
WO06-22FMS45 Y M22x1.5| S14 | 42.0 |1.65| 72.0 | 2.83 |19.0 | 0.75 | 27 | 1V4e
WO08-22FMS45 kZ) M22x1.5| S14 | 46.0 | 1.81 | 79.0 | 3.11 | 20.0 | 0.79 | 27 | 1%1e
WO08-24FMS45 Kz M24 x1.5| S16 | 47.0 | 1.85| 80.0 | 3.15|21.0| 0.83 | 30 | 1%e
W10-30FMS45 % M30x2.0 | S20 | 56.0 | 2.20 | 92.0 | 3.62 | 25.0 | 0.98 | 36 | 176
W12-30FMS45 Ya M30x2.0 | S20 | 64.0 | 2.52 | 105.0 | 4.13 | 27.0 | 1.06 | 36 | 1%
W12-36FMS45 Ya M36x2.0 | S25 | 64.0 | 2.52 | 105.0  4.13 | 28.0 | 1.10 | 46 | 1'%e
W16-36FMS45 1 M36x2.0 | S25 | 82.0 | 3.23 | 133.0 | 5.24 | 34.0 | 1.34 | 41 | 1'%e
W16-42FMS45 1 M42x2.0 | S30 | 80.0 | 3.15|131.0 | 5.16 | 31.0 | 1.22 | 50 2
W20-42FMS45 1 [ M42x2.0 | S30 | 96.0 | 3.78 | 154.0 | 6.06 | 41.0 | 1.61 | 50 2
W20-52FMS45 1%s [ M52x2.0 | S38 | 94.0 | 3.70 | 152.0 | 5.98 | 38.0 | 1.50 | 60 | 2%
W24-52FMS45 1%2 [M52x2.0 | S38 |115.0 ( 4.53 (180.0 ( 7.09 | 49.0 | 1.93 | 60 | 2%

9J31d OM 1

T

Il

[T

9SOH |eJidg 1no / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX 209



9J391ld OM 1

9SOH |eJidg Jno 4 / paplelg - Sauag M m

210

Two Piece

K ———

-

)l
-T®

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FMS90 Metric 24° Female Heavy - 90° Elbow (DKOS)

WO03-14FMS90
WO03-16FMS90
W04-14FMS90
W04-16FMS90
W04-18FMS90
W04-20FMS90
WO05-18FMS90
WO05-20FMS90
WO06-18FMS90
W06-20FMS90
WO06-22FMS90
WO08-22FMS90
WO08-24FMS90
W10-30FMS90
W12-30FMS90
W12-36FMS90
W16-36FMS90
W16-42FMS90
W20-42FMS90
W20-52FMS90
W24-52FMS90

%e
%e
Ya
Va
Ya
Va
%e
%e
s
%
s
2
2
%
Ya
3/

1Y,
1Y,
112

M14x1.5
M16 x 1.5
M14x1.5
M16 x 1.5
M18 x1.5
M20 x 1.5
M18 x1.5
M20 x 1.5
M18 x1.5
M20 x 1.5
M22 x 1.5
M22 x 1.5
M24 x 1.5
M30 x 2.0
M30 x 2.0
M36 x 2.0
M36 x 2.0
M42 x 2.0
M42 x 2.0
M52 x 2.0
M52 x 2.0

S6
S8
S6
S8
S10
S12
§10
S12
S10
S§12
S14
S14
S$16
S20
S20
S25
S25
S30
S30
S38
S38

16
16
1%e
176
1746
11%6
1'%e

2%
2%

FORSAFLEX"



Two Piece

Part

Number

W06-20MGAZ
WO08-24MGAZ
W10-30MGAZ
W12-30MGAZ
W12-36MGAZ
W16-45MGAZ

M20 x 1.5
M24 x 1.5
M30 x 1.5
M30 x 1.5
M36 x 1.5
M45 x 1.5

13.25
16.75
21.25
21.25
26.75
33.50

MGAZ French Metric Male GAZ

16
14
14
176

11%6

WO06-20FGAZ
WO06-24FGAZ
W08-24FGAZ
W10-30FGAZ
W12-30FGAZ
W12-36FGAZ
W16-45FGAZ

M20 x 1.5
M24 x 1.5
M24 x 1.5
M30 x 1.5
M30 x 1.5
M36 x 1.5
M45 x1.5

13.26
16.75
16.75
21.25
21.25
26.75
33.50

FGAZ French Metric Female GAZ

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"

9J31d OM 1

9SOH |eJidg 1no / paplelg - Sauag M m

21



Two Piece

Part

Number

WO08-08FL
WO08-12FL
W10-12FL
_ W12-08FL

§ W12-12FL
W12-16FL
\ L W16-12FL
W16-16FL
W16-20FL
W20-16FL
W20-20FL
W20-24FL
W24-24FL
W24-32FL
W32-32FL

9J391ld OM 1

14
1Ya
14
1%
12

FL code 61 Flange

47.0 1.85
47.0 1.85
48.0 1.89
49.5 1.95
54.0 213
54.0 2.13
55.0 2.20
55.0 217
55.0 217
62.0 244
62.0 244
62.0 244
67.5 2.66
67.5 2.66
70.0 2.76

Part
Number

WO08-08FL45
WO08-12FL45
W10-12FL45
W12-08FL45
W12-12FL45
W12-16FL45
W16-16FL45
W16-20FL45
W20-20FL45
W20-24FL45
W24-24FL45
W24-32FL45
W32-32FL45

9SOH |eJidg Jno 4 / paplelg - Sauag M m

14
14
1%
1%

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

212

FORSAFLEX"




BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FL90 code 61 Flange - 90° Elbow

Part

Number

WO08-08FL90-040
WO08-12FL90-045
W10-08FL90-042
W10-12FL90-047
W12-08FL90-054
W12-12FL90-051
W12-16FL90-054
W16-16FL90-061
W16-20FL90-061
W20-16FL90-078
W20-20FL90-070
W20-24FL90-070
W24-24FL90-083
W24-32FL90-083
W32-32FL90-122

© c

1Y
1V
1Y
1%
12

mm

6.7
6.7
6.7
6.7
6.7
6.7
8.0
8.0
8.0
8.0
8.0
8.0
8.0
9.5
9.5

Two Piece

FORSAFLEX"

9J31d OM 1

9SOH |eJidg 1no / paplelg - Sauag M m

213



Two Piece

FLH code 62 Flange

9J391ld OM 1

Part

Number
W08-08FLH 2 7.8 31.8 1.25 47.0 1.85 80.0 3.15
A W08-12FLH 2 8.8 41.3 1.63 47.0 1.85 80.0 3.15
] W10-12FLH % 8.8 41.3 1.63 48.0 1.89 84.0 3.31
C H W12-12FLH Ya 8.8 41.3 1.63 58.0 2.28 98.5 3.88
L W12-16FLH Ya 9.5 47.6 1.87 58.0 2.28 98.5 3.88
W16-16FLH 1 9.5 47.6 1.87 64.0 2.52 115.0 4.53
W16-20FLH 1 10.3 54.0 213 64.0 2.52 115.0 4.53
| W20-20FLH 1% 10.3 54.0 213 67.5 2.66 125.0 4.92
W20-24FLH 1% 12.6 63.5 2.50 67.5 2.66 125.0 4.92
W24-24FLH 1% 12.6 63.5 2.50 79.5 3.13 144.0 5.67
W24-32FLH 1% 126 79.4 3.13 79.5 3.13 144.0 5.67
W32-32FLH 2 12.6 79.4 3.13 95.0 3.74 165.0 6.50

Part
Number
W08-08FLH45 2 7.8 318 (125 470 |1.85| 80.0 |3.15| 20.0 | 0.79
WO08-12FLH45 ) 8.8 41.3 | 1.63 | 53.0 | 2.09 | 86.0 | 3.39 | 26.0 | 1.02
W10-12FLH45 % 8.8 413 [ 1.63 | 57.0 | 2.24 | 93.0 | 3.66 | 26.0 | 1.02
W12-12FLH45 Ya 8.8 41.3 | 1.63 | 64.0 | 2.52 | 104.0 | 4.09 | 26.0 | 1.02
W12-16FLH45 Ya 9.5 47.6 | 1.87 | 68.0 | 2.68 | 108.0 | 4.25 | 31.0 | 1.22
W16-16FLH45 1 9.5 47.6 | 1.87 | 80.0 | 3.15| 131.0 | 5.16 | 32.0 | 1.26
W16-20FLH45 1 10.3 54.0 | 213 | 85.0 | 3.35|136.0 | 5.35| 37.0 | 1.46
W20-20FLH45 1 10.3 54.0 | 2.13 | 93.0 | 3.66 | 151.0 | 5.94 | 37.0 | 1.46
W20-24FLH45 1% 12.6 63.5 | 2.50 | 99.0 | 3.90 | 157.0 | 6.18 | 43.0 | 1.69
W24-24FLH45 1% 12.6 63.5 | 2.50 [ 111.0| 4.37 [ 175.0 | 6.89 | 44.0 | 1.73
W24-32FLH45 1% 12.6 79.4 | 3.13 (122.0| 4.80 | 184.0 | 7.32 | 55.0 | 2.17
W32-32FLH45 2 12.6 79.4 | 3.13 |147.0( 5.79 | 217.0 | 8.54 | 58.0 | 2.28

9SOH |eJidg Jno 4 / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

214 FORSAFLEX



—— T>

FLHO90 Code 62 Flan

Part
Number
WO08-08FLH90-040
WO08-12FLH90-047
W10-12FLH90-050
W12-12FLH90-054
W12-16FLH90-060
W16-16FLH90-066
W16-20FLH90-073
W20-20FLH90-078
W20-24FLH90-086
W24-24FLH90-093
W24-32FLH90-109
W32-32FLH90-125

y

©r

in
Y2
iz
%
Ya
Ya

1Y
1Y,
1%
1%

C
mm
7.8
8.8
8.8
8.8
9.5
9.5

10.3
10.3
12.6
12.6
12.6
12.6

Two Piece

ge - 90° Elbow

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"

9J31d OM 1

9SOH |eJidg 1no / paplelg - Sauag M m

215



MPWK Pressure Wash Gun End - K
Part "'fﬂ' A

Number
H W04-22MPWK Va 11.0 0.43 36.0 1.42 64.0 2.52
E L W05-22MPWK %6 11.0 0.43 36.0 1.42 64.0 2.52

9J391ld OM 1

FPWK Metric Pressure Wash Swivel - K
Part <o H

Number N 3
WO04-22FPWK Va M22x1.5( 35.0 1.38 63.0 2.48 14 0.55
W05-22FPWK %46 M22x1.5| 38.0 1.50 66.0 2.60 14 0.55
W06-22FPWK E7) M22x1.5| 38.0 1.50 68.0 2.68 14 0.55

9SOH |eJidg Jno 4 / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

216 FORSAFLEX



Two Piece

14710 wWEO Male

9J31d OM 1

" E— Part
Number
l 147100404 Va 10.0 0.39 33.0 1.30 19.0 0.75 58.0 2.28
M H 147100604 Va 13.0 0.51 33.0 1.30 22.0 0.87 61.0 2.40
147100606 £ 13.0 0.51 33.0 1.30 22.0 0.87 63.0 2.48
L 147100806 % 16.0 0.63 33.0 1.30 22.0 0.87 63.0 2.48
147100808 2 16.0 0.63 33.0 1.30 22.0 0.87 64.0 2.52
147101208 o 23.0 0.91 42.5 1.67 31.0 1.22 73.5 2.90
147101212 Ya 23.0 0.91 43.0 1.70 31.0 1.22 82.0 3.23
Part
Number
K —=7

E) 147120404 Va 10.0 | 0.39 | 51.0 | 2.01 | 19.0 | 0.75 | 79.0 | 3.11 | 28.0 | 1.10
\ 147120604 Va 13.0 | 0.51 [ 65.0 | 217 | 22.0 | 0.87 | 83.0 | 3.27 | 32.0 | 1.26
M/ 147120606 % 13.0 | 0.51 | 59.0 | 2.32 | 22.0 | 0.87 | 89.0 | 3.50 | 33.0 | 1.30
L 147120806 Y% 16.0 | 0.63 | 60.0 | 2.36 | 22.0 | 0.87 | 90.0 | 3.54 | 34.0 | 1.34
147120808 Y2 16.0 | 0.68 | 66.0 | 2.60 | 22.0 | 0.87 | 97.0 | 3.82 | 36.0 | 1.42
147121208 V2 23.0 | 0.91 | 73.0 | 2.87 | 31.0 | 1.22 | 104.0 | 4.09 | 44.0 | 1.73
147121212 Ya 23.0 | 0.91 | 103.0| 4.06 | 31.0 | 1.22 | 142.0 | 5.59 | 55.0 | 2.17

Part ":‘Q"

Number in
(7 1 ﬂ 147140404 Ya 10.0 | 0.39 | 34.0 | 1.34 | 19.0 | 0.75 | 62.0 | 2.44 | 51.1 | 2.00
T } 147140604 Va 13.0 | 0.51 | 34.0 | 1.34 | 22.0 | 0.87 | 62.0 | 2.44 | 56.0 | 2.20
H M 147140606 % 13.0 | 0.51 | 39.0 | 1.54 | 22.0 | 0.87 | 69.0 | 2.71 | 60.0 | 2.36
L i 147140806 Y% 16.0 | 0.63 | 39.0 | 1.54 | 22.0 | 0.87 | 69.0 | 2.71 | 61.0 | 2.40

9SOH |eJidg 1no / paplelg - Sauag M m

147140808 Y2 16.0 | 0.63 | 48.0 | 1.89 | 22.0 | 0.87 | 79.0 | 3.11 | 69.0 | 2.72
147141208 Y2 23.0 | 0.91 | 48.0 | 1.89 | 31.0 | 1.22 | 79.0 | 3.11 | 79.0 | 3.11
147141212 Ya 23.0 | 0.91 | 75.0 | 295 | 31.0 | 1.22 | 114.0 | 4.49 | 104.0 | 4.09

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"

217



Two Piece

14817 WEO Female

9J391ld OM 1

Part 'E{Fjj'
. Number in
o ? 148170404 Va 10.0 0.39 32.0 1.26 62.0 2.44 20 1346
: 148170606 Y 13.0 0.51 36.0 1.42 66.0 2.60 24 %6
L 148170808 V2 16.0 0.63 38.0 1.50 67.0 2.64 28 1%
148171212 Ya 23.0 0.91 48.0 1.89 87.0 3.42 36 176

14727 WEO Male - MJIC

— E — Part

Number

147270407 10.0 0.39 | 76-18 | 19.0 0.75 42.0 1.65 13 "he
147270609 13.0 0.51 %e-18 | 22.0 0.87 47.0 1.85 16 %
147270612 13.0 0.51 Ya-16 22.0 0.87 53.0 2.09 22 /8
147270809 16.0 0.63 | %e6-18 | 22.0 0.87 47.0 1.85 20 %16
147270812 16.0 0.63 Ya-16 22.0 0.87 52.0 2.05 20 %16
147270813 16.0 0.63 7%-14 22.0 0.87 55.0 217 24 %16
147270817 16.0 0.63 |1%e-12| 22.0 0.87 62.0 2.44 30 1%e
147271217 23.0 091 [1%e-12| 31.0 1.22 68.0 2.68 30 1%1e

9SOH |eJidg Jno 4 / paplelg - Sauag M m

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

218 FORSAFLEX



